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&Ted jemey : 3.00 wenfl CrHyLd ] [ Qorgs wlibluemser : 100
Time Allowed : 3.00 Hours | [Maximum Marks : 100
Sileyemraer : (1) Smangg edlammssEpnd sflurg oFsl udeirdl o 6qrersT erarLigemer
slurTsgs Qamerere . F&LLSelled @Gamull e emms
sesranilliureril_b o | arnguirs Csitelssea|b.
2) Beowd deg &S®mUY owulomar LEHGCWL 6rWgSHELD
Sl &CH Mg (HeusH@D LweT(hES Gauenr(hd. LILBISET eUanFeUSN S
Quenfled LweTU(HSSe| .
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@SNl : Geualermsgrer mrenE LGS semer ClsmeirL_g).

Note : This question paper contains four parts.

U@ - I /PART -1

Gy : () weuIsg alamssEpsEh allenl waflése] . 14x1=14
(i) Garhssuul L mrenE edlanlseald Wsab ghueLw edlenLulener
CarbOshds GNULHLer ellenLulenaryd Carggl er(pseyLb.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. n(AxB)=6 wpmidb A={1, 3} eramleb n(B) <=y,em1g :

(o)1 (=) 2 (@) 3 () 6
If n(AXB)=6 and A={1, 3} then n(B) is :
(@ 1 (b) 2 (© 3 (d) 6

2. 1729 g usrs sTrallUBSHLCUTE, ABSL LUST eramserter <i(HdEseflen

G (hSe :

(o)1 (=) 2 (@) 3 (r7) 4

The sum of the exponents of the prime factors in the prime factorization of 1729 is :
@ 1 (b) 2 c) K (d) 4

3. F,=1,F,=3 whmi F,=F _,+F, _, erend GarhésLliLiger, Fr 2 erg) :

(1) 3 (<) 5 (&) 8 () 11
Given F; =1, F,=3 and F,=F,_{+F,_» then F5 is :
(@ 3 b)) 5 (c) 8 (d 11
256 x8y4zlo
4. —— 7 Wer aumdseLpeLD :

25 30,50 P

16 |x2z* yz 16 | y 16 |xz2
(@) 5 [ 2 (=) 27 (@) 5 2 (m) 5 [y
Th tof 20XV at

e square root of ———"~—— isequal to:
25xyz

16 [x%2* 16l 16 | y 16 |xz

@ [y ®) 10133 © 3|z @ 5y
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e Crilw Foarumiger euenrULLD 6 2A,GD.
(=) Crr&CGam(h (<=}) @ulL LD
(@) ureuemerwibd () dlureiemeTiid
Graph of a linear equation is a
(a) Straight line (b) Circle
(c) Parabola (d) Hyperbola

am, amtl am*+2 o fluieumdlen LS5.Cum.ey. :
(=) a™ (<)am*! (Q) am*? (rF) 1
The G.C.D. of am, am*1 agm+2 jg .

(@ am™ (b) am*! () am*? (d) 1

AABC uié DE||BC, AB=3.6 Q&.15., AC=24 G&.15. whmidb AD=2.1 Q&..5. erefed,
AE uleor f;@TLb 2
(=1) 1.4 Qa.15. (<) 1.8 Q&.15. (@) 1.2 Q&.15. (/) 1.05 Qa.18.

If in AABC, DE || BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then, the length of AE
is:

(@) 14 cm (b) 1.8 cm (c) 12cm (d) 1.05 cm

aul L gdler Ceuafliiymis Leretludedlmpg eul L sS5n@ erdsamear QgrhCasThser

QUMD ?

(1) @en) (<) Qran(

(@) pyeupp eraimantisans (7) ggwi

How many tangents can be drawn to the circle from an exterior point ?
(@) one (b) two

(c) infinite (d) zero
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(=5,0), (0, =5) wHMID (5, 0) L Fw Lyemaflsarmed Den&ESLILHD PECSHTERTSS 60r
uliy

(1) 0 5. SjO@GS6T (<=4) 25 &. SO @GS6T

(@) 5 & GsHeT (rr) erglaybldenen

The area of a triangle formed by the points (—5, 0), (0, —5) and (5, 0) is :
(a) 0sq. units (b) 25 sq. units

C 5 sqg. units d) none of these
q

(0,0), (1, 0) dmiLd (0, 1) ereomm LeTelgEeneT (penerserras OlamemL (p&sGamenTsdl e
GDHDETE

(1) V2 (=) 2 (@) 2+2 (F) 2-42

The perimeter of a triangle formed by the points (0, 0), (1, 0) and (0, 1) is :

@ 2 (b) 2 © 2++2 d 2-42

@ Caryrsder o wLrsHn@n isen Hlpader FersHh@n o drer elfsn /3 : 1
erafle, @flweneans sramib FHms Cament SjeTeuTerg) :

(1) 45° (<) 30° (@) 90° (m) 60°

If the ratio of the height of a tower and the length of its shadow is /3 :1 then, the

angle of elevation of the sun has measure :

(a) 45° (b) 30° © 90° d) 60°

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

12.

13.

14.

www.Padasalai.Net www.TrbTnpsc.com

5 4962
<rd 5 Qg.15. wHmbd Frywrb 13 .S, 2 erw Cpir Ul Lé gablGer o wiyb:
(<=1) 12 Q&.16. (<) 10 Q&.15. (@) 13 Q&..5. (/) 5 Q&.i8.

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will
be :

(@) 12 cm (b) 10 cm () 13 cm (d 5Scm

@ arsCasrargdlen CLTGSL LTl s Y TrSHlaneml il alfsssS en

LDL_MBI&TG)LD.

(1) w (<) 4w (&) 3= (/) 2m

The total surface area of a hemisphere is how many times the square of its radius ?

(@ (b) 4 (c) 3w (d) 2

R LUS5S5555 MBS g0 eurliliL wpevpuier @ LsED CsrHblsh&Es
LOEDG. bSL LGS erantanflen eemmmd @)L WSliLTeang 7-e3 9L& Gammeurs

Q@UUSHETET BlEHSSaITaE)

(@) = (<) 15 @) 5 (") +

A page is selected at random from a book. The probability that the digit at units place
of the page number chosen is less than 7 is :

3 7
@ 75 ® 70 © 3 d 3

[ Hpliys / Turn over

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

www.Padasalai.Net www.TrbTnpsc.com

4962 6

@3 - I1/ PART - I

@MlLy : eTemeuCuiend 10 ellarTds@hd@ ellenwellGsa|b. aflerm erear 28 &

SL_Lmwwng adenL_Wef&Ese|b. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15. A={1, 3, 5}, B={2, 3} eraflé n(A xB)=n(A)xn(B) eTand &r_(H.

If A={1, 3, 5} and B={2, 3} then show that n(A X B) =n(A) xn(B).

16. A={1,23,4, ..., 45 womid R eratm 2mey ‘A -uwlern g, e erewrenilen
QUTESLD” 6Tal eUENTWMISSILILL T R -3 AXA -Wllen 2 L SewTong 6T (pgis.

Ggib R -Garer wHULESMSWLD, IFFESMSWLD STERTsH. -

Let A={1, 2, 3, 4, ....., 45} and R be the relation defined as “is square of a number” on
A. Write R as a subset of AX A. Also, find the domain and range of R.

17. 3,6,9,12, ..., 111 aarp Fl H&5CgsTLT auflewsulier o arer 2 milisef en

CT TG HENGHH IS & TEHTS.

Find the number of terms in the A.P.

3,6,9 12, ..., 111.

18. 3+k, 18—k, 5k+1 eremuiency @ sl (hsLsri euflengulleb o ereren erenlev,

k udler gl sres.

If 3+k, 18—k, 5k +1 are in A.P. then find k.
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epmIGaier gmbhise LHMD GUmEsHLULe —9 HMD 20 ereafld, @ mugF

FLORTUTHSENCTE HTEUTS.

Determine the quadratic equations, whose sum and product of roots are —9 and 20.

15x2+11x+2=0 eTemn @)(HLIGF FLOGTLTL g6l PEBIGETIGT SETENOEMWIS HTEHTS.

Determine the nature of the roots for the quadratic equation 15x%+11x +2=0.

AABC e Lissmisear AB wpmib AC ufler Weglerer Yeraflser wpenmGu D whHmid

E 9erg DE || BC eraimeumm <ieniobgIeTens). AD—['; = % LHMD AC=15 Qg.15.
erafléy, AE ullerm gl srers.

In AABC, D and E are points on the sides AB and AC respectively such that DE || BC.

If A—D = é and AC=15 am, find AE.
DB 4

(=3, —4), (7, 2) wHmbd (12, 5) Y Flw LeTaflger em CaTLmwbFamel 6rems

ST(hS.

Show that the points (=3, —4), (7, 2) and (12, 5) are collinear.

8x—7y+6=0 ererm Gamiiger smie| wHMD y eu (g <,dlueuhenms

STES (h &.

Calculate the slope and y intercept of the straight line 8x—7y +6=0.
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3x—2y—6=0 erarm Cpr&Carh < Fssaflear Coa ghuBsSEHDd el His

ST (HHENETE &TETS.

Find the intercepts made by the line 3x —2y—6=0 on the coordinate axes.

103 B 2 wpeerer CaryrsdHen Siquilalmpg 30 B Qsranaelld sanrudle
o arem gp( Yatafludellmpg Caryrsdlen o &fluller gnms Caramsansd SmeanTs.

Find the angle of elevation of the top of a tower from a point on the ground, which is

30 m away from the foot of a tower of height 10./3 m -

2w 2 1 HmId SjigtitiFliy 250 &.15. Q&TeTL 6T 2 (HeneTudl 6 S&T 6Teneld

5TEH0TS.

Find the volume of a cylinder whose height is 2 m and base area is 250 m?.

@@ usmL 2 HLLUU@GD ACs Crrssled e Branruipbd SHear LS ng.
sl uled enhepluml. erar o LUgnHEGL, Bramusdld FHenw

SenL_ LILsnH@GLrer HansHmeld &mers.

A die is rolled and a coin is tossed simultaneously. Find the probability that the die
shows an odd number and the coin shows a head.

@\ Cpireul L& sgwmibliler o wymiseter edSlgn 1: 2 HMID Djeunblen g ILISSHE
smmeredlen NS0 3 : 4 erafled, Deupmlen sar 6T satan eSS0 SHrams.

The heights of two right circular cones are in the ratio 1 : 2 and the perimeters of their
bases are in the ratio 3 : 4. Find the ratio of their volumes.
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L& - III / PART - 111

GO : eTemeuGuienid 10 eleTésEns@ ellenwelssa|b. aferm ereim. 42 &@E

SL_L_muwng el wefl&salb. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29.

30.

31.

32.

33.

A={xe W | x<2},B={xre N | 1<x =<4} bpmd C={3, 5} creflev,
Ax(BNC)=(AxB) N (AxQC) eremugenend &fLTT&ES6LD.

Let A={x e W | x <2}, B={x e N | 1 <x = 4} and C={3, 5}. Verify that
AX(BNC)=(AxB)n(AxCQ).

@M Fl(HF Qsri eauflensuller DmwBHS ABHESHES eperm 2 miliL|set e
F(hd® 27 wHmD Seumder CUmEEHLME 288 erafle®, b eperm

2 MILIL|SHM6TS &TEHTs.

The sum of three consecutive terms that are in A.P. is 27 and their product is 288. Find
the three terms.

396, 504, 636 <y Fweupmlen WB.CLIT.6u. Srams.

Find the HCF of 396, 504, 636.

Erdg - x+y+2=5; 2x—y+z=9; x—2y+3z=16.

Solve : x+y+z=5; 2x—y+2z=9;, x -2y +3z=16.

6dxt —16x3 +17x2 = 2x +1 GTGTLSET QUTSSHEPAD SHTERTS.

Find the square root of 64x*—16x3+17x%>—2x+1.
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Ygrarev Canmsens er(pdl, Hlme|s.

State and prove Pythagoras Theorem.

@ WsCaramsdlen BH&CHTHSET e LieTall auflF GlFead eTard ST (Hs.

Show that in a triangle, the medians are concurrent.

A6, 2), B(=5, —1) womid C(1, 9) -8 (wpenansernasd Clgmewr AABC ullem (pene

A W9eSl(mBg euerulL(BD BHECSHTL g 6T FOETUTL DL & STas.

Find the equation of the median of AABC through A where the vertices are A(6, 2),
B(—5, —1) and C(1, 9).

P(—1, —4), Q(b, c) wopmid R(5, —1) eramuier Gy CrrsEGCasmiqd jenouyLd
HereflaeT erers. Goad 2b+c=4 erafle b ommID ¢ -udler wHLiL| smevrs.

If the points P(—1, —4), Q(b, c) and R(5, —1) are collinear and if 2b +c=4, then find
the values of b and c.

@@ FLULLSET Semismy edletsssdlen @@ LsshIGaTIQID HL6ld LD
Qewudlemper. @@ sLLOsMO(HHS soBsmT leTssgder o Fflular ermmé
Carenriiger wpepmGu 30° HMID 45° UG, SOBISHT alleTdss5Slem o Wiy
200 15 erafled @ FLILIOEERGGD @enLCuw 2 drer QFTamenald Srems.

(V3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of
the top of the lighthouse as observed from the ships are 30° and 45° respectively. If the

lighthouse is 200 m high, find the distance between the two ships. (V3 =1.732)
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45 Q&.18. 2 wippeTer i @QenL s e Q\MHLD <, ThisET panpGu 28 Gl LS.

OHMLD 7 GF.5. erafled, @enL & SIS ST AeTen6d STEHTs.

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,
find the volume of the frustum.

eI 2 (Hanemudlen 5 gt Sianr&Carerd @enanthbgeumn 2 6rer e GlLimbeantoulden
Qrgs 2 wirb 25 CF.B. @b, gen afllL b 12 Q&.15. erafled, CLimbenioud e

QLISSL LDULTLIENLIS STeuTs.

A toy is in the shape of a cylinder surmounted by a hemisphere. The height of the toy
is 25 cm. Find the total surface area of the toy if its common diameter is 12 cm.

@ren(h useLger 2 Bl LuBdlarmer. Sl &ss (umibd s wHiiysetler
F(Hse (i) 4 -5&& Fwors (i) 10 -5 el dlswrs (i) 13 - L& Gomeurs
@mUusHETET HEDSH6 &Teus.

Two dice are rolled. Find the probability that the sum of outcome is (i) equal to 4
(ii) greater than 10 (iii) less than 13.

gwemur® (1+m?)x?+2mex+c?—a?=0 -ar epmsear b erafler c?=a%(1+m?)

erar Hlmies.

If the equation (1+m?)x?+2mcx +c?—a?=0 has equal roots, then prove that
2= a2(1 + mz).

4962
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u@d - IV / PART - IV

SN : Semesisg elamés@EhsEh ellenLwarflése] . 2x8=16

Note : Answer the following questions.

43. (=) PQ=45 Q&.15.,, ZR=35° wHmib =& R -OlHbHgH euenguliLilL
BH&ECET Igen Barib RG=6 Q&.18. eranm yemwwjworm APQR euens.
360605
(<=1) 6 Qe.18. el Lpeiter aul L b euenFhgl eul L e enlowigHledlmbg 8 Gg.L5.
Osreneeiled P eremm LieTeflenwids @GMiGsHeyd. <jliLjerafiudedmbg PA
wHmD PB ererm @ QsrOCETOSHET cuamyhg Aeubdler Hermiseamar
el (H&.

(a) Construct a APQR whose base PQ=4.5 cm, ZR=35° and the median from R to
RGis 6 cm.

OR

(b) Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its
centre. Draw two tangents PA and PB to the circle and measure their lengths.

44. (1) ¥>+x—12=0 eTaTD FOGTLITL g6 QU TLIL LD cUeTHEI, STellen emenLoeniid
M.
S|V
(=) y=22+3x—4 -ler euenFULL eudThE, Aol LwearUBHSH
x2+3x—4=0 erany FATUTL LG STdEHe]Lb.
(a) Draw the graph of x>+x—12=0 and state the nature of their solution.
OR

(b)  Draw the graph of y=x%+3x—4 and hence use it to solve x> +3x—4=0.

-00o0-
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